Pre-Final Test Examination, 2021

H.S. Second Year (Commerce)

‘Accountancy
Full Marks : 100 Time: 3 hours

(The figures in the margine indicate full for the questions.)

1) (a) Fill in the blanks with appropriate word. 1x6=6
AT 1T AT 51 77 1 ¢
(1) A Receipts and payments account is prepared on ___ basis of accounting.
Gl 467 2P f2otet e fofos evgo w11 21 |
(i) When partners’ Capital Account is fixed, then partners’...... account is prepared.
ST SR Teg RBolel F1 A, cofo, wefines ... ol oS T |
(iii) ........... is the extra earning capacity of a business.
....... B! IS TORG &I HZIR ol I&H |

(1v) A partner act as an ......... for the firm.

& ST LA AfSHINCOIR G ... 2pite I FE |

(v) The liability of every shareholder of a company is ..........c.c.......

<1 (PTAII ATOTF ST AT (A1 ARSI ... |
(vi) Life membership feeisa.............. receipt.

G I ) WZE (R covvve il

(b) Choose the correct alternative : ' 1x3=3
o7 BGI0H! AR T3 |
(i) In the event of death of a partner, the amount of General Reserve in transfered to
the partners’ Capital accounts in : '

& WM TP 20, AR S Bpiere 41 TR siefiniasieers e Roisita
B 9 24 |

(1) New profit sharing ratio (2) Capital ratio
TG FIS TT TATOS . PGRCASEKIST
. (3) Old profit sharing ratio (4) None of the above.

9N 1S I TS G9{<F GbI8 TR |



(i1) Balance sheet shows :

STGAT O~
(1) Financial position of a company. (2) Profit or loss of a company.
<51 IR =L =7 9GB! (IS &S (TN
(3) Cash flow of a company (4) None of the above.
B! (FIo{IIE A5 471 AT s 89T ol 72 |

(iii) When a new partner does not bring in his share of goodwill in cash, the amount
of premium is debited to : |

ST ToA SLTR G&H (96T FAINR WL+ w57 S (R, cofsat fafimise #fRm
RISIE T

(1) Premium Account (2) Capital Account of new partner
fafsa fRpist T SLTMIRT et Zpisl
(3) Cash Account (4) Capital Account of old partner
o fZoiet 3} Wi JETL= it
(c) State wheather the following statements are true or false: 1x3=3
O AT (FITS T (o 3| g

(i) A preference shareholder gets interest at a fixed rate.
GG SARPRYS W @bt (7S e 37 =i
(ii) Interest on partners’ Capital is debited to partners’ capital account.
MY JELAR @21FS Tl 3o LTI Jo1d f2plers (o <91 2|
(i11) Financial analysis is used only by the creditors.
Rl afSTanepiTg oe slleameere] IR I |
2) What is sacrificing ratio? 2
SIS JfeTte & o 2
3) Name any two items that can be shown under sub head ‘Reserve and surplus’. 2
‘offS IS T B five A I w51 Rgw Some 54 |
4) Explain average profit method of valuation of Goodwill. 2
TR TEPEE 5G 1S #iafs AP I |
5) X Ltd decided to forfeit 1000 shares of Rs. 10/- each for non-payment of allotment

money for Rs. 4/- each and 1st and final call money of Rs. 3/- each. Give journal entry
for the forfeiture of share. 2

X 5T 1,000 51 10 I XA TIBA ©61 4 531 HAE AN ST FOTE O 3 5



Wmﬁwm@wuwwﬁam@mmaﬁ&ﬁm

6) State the meaning of not for profit-organisation. iR
S TR AfSHing W s |

7) Mention any two methods of valuation of Goodwill. 2
AN EBIRNR RCPIA! 951 Al Srrdd 51 | .

8) Give two distinctions between ‘Not-for-profit’ organlsatlon and a ‘Tranding’

organisation. 2
ST CAICETIY 2AfSBIN i JTR eifodina tors <4l 551 =ity Bra |

9) What is meant by ‘Super profit’ in relation to valuation of Goodwﬂl" 2
TN ERA FES oS e’ Wi & gont 2 ' -

10) Mention any two 1imitations of Financial statements. 2
& efSrvma et 451 SMiawe! Sras 3041 |

11) Ram, Shyam and Hari are partners sharing profits in the ratio of 2:2:1. Hari retires.

Ram and Shyam have decided to share future profits and losses in the ratio of 2:1.
Calculate the gaining ratio. 2

I, *PI SF 2f 2:2:1 SFANOS A 35 91 QLTI | 2R ST 7 | I S 1
SRS 2:1 SATES 771 I3 FRAe Praie 77 | =71 Sgeite Fefy 31|

12) What are the circumstances when a revaluation of assets and liabilities becomes
necessary? 4

5 1 110 7~+1S SI% 7 77 Yopim 9 23 |
13) What do you mean by forfeiture of share? Discuss the procedure of forfeiture of -

shares. : 4
I AT R 2 Sxi1a TSRS 1S A5 3941 | }

14) Give any three distinctions between sacrificing ratio and gaining ratio. 4
SIS A FASIgANSS Wiers 431 At fofo o2y ot |

15) Mention any three objectives of Receipts and payment account. 4
S I 336 Rp1eiR R oo Sy S =t 1

16) Mention three features of a non-trading organisation. 4
QI SIS 2Afoviag MG (2 Seame a1 |

17) Explain the meaning of financial statements. - 4

&1 eiferavms w1 At 341



18) Explain the meaning of Fund-based accounting. - 4
& fofes RpefRvme @i a4

19) What do you mean by Income and Expenditure Account? 4
Y S I 1ot e B g

20) Amar and Bahadur are partners of a firm sharing profits in the ratio of 3:2. They

admit Mery as a new partner for !/,th share in the future profits. The new profit sharing
ratio between Amar Bahadur is agreed to be 2:1 calculate their sacrificing ratio. 4

T HF IF 3:2 SASS &S IoATI91 QI ATSHIRI WA | (S STHIS e U/,
T AR (R T WA Zp1et SfE T | IT Wi IR ASTS T a1od S
232:1 | (OSTEIRT G5 SFeits A <1 |
21) Assam cricket club has a cash and bank balance of Rs. 1600/- and Rs. 20,000/-
repecti.vely on 01-04-2019. From the following details, prepare a receipts and payments

account for the year ended 31-03-2020. 3
= ,
Donation received 18,000
Entrance fee received 6,000
Donation received for building 90,000
Furniture Purchased 18,000
Salary paid for theyear 10,500
Salary paid in advance 2,000
Repair to Building 1500
Rent received 1500
Wages paid 6000
Outstanding salaries 1500
Depreciation of furniture 2000
Maintenance Grant 900
Subcription received : :
For 2018-19 8000
For 2019-20 : 25000
For 2020-21 1000
Life membership fees 4000

Balance of bank on 31-03-2020 1,35,000
22) The Balance sheet of A, B and ¢ who were sharing profits in proportlon to then'



capital stood as follows on 31st Mar, 2020. 8
Balance Sheet :

Liabilities Amount Assets Amount
Sunday creditors 14,000 Cash at Bank 5500
Capital Account : Sundry Debtors 4900
A 18000 Stock 8000
B 13,500 Investment 11,500
i 9000 40,500 Land and Building 25,000
54,900 54,900

B Retired on the above date on the following terms and condition.

(i) That stock be depreciate by 6%

(ii) That a provision for doubtful debt be created @ 5% on debters..

(iii) That Land and Buildings be appreciated by 20%.

(iv) That Goodwill of the entire firm be fixed at Rs. 10,800/- and B’s share of
Goodwill be adjusted into the accounts of A and C who are going to share future
profits in the ratio of 5:3 (No Goodwill account to be raised).

Pass the necessary Journal entries in the books of the firm.

or
Explain the issue of shares ‘at par’, at ‘a premium’ and ‘at a Discount’.

S o T IS, HERS” Wi UGS’ Kicrwwe Ay w4t |
23) A and B are partners sharing profits in the ratio of 3:2. Their Balance sheet as on

31st Mar 2020 was as follows : 5
Balance Sheet

Liabilities Amount Assets Amount
Sunday creditors 20,000 Cash in hand 3000

Capital Account : Sundry Debtors 12,000
A 30,000 Stock 15,000
B 20,000 Furniture - 10,000
50,000 Marchinery 30,000
70,000 70,000

C was admitted as a new partner of the following terms and conditions :
(i) C will bring Rs. 15,000 for capital and Rs. 5000 for his share of goodwill for

%th share in the future profits.



(i1) The value of stock to be reduced by Rs. 2000 and that of Machinery be
increased by Rs. 8000.
(iii) The value of furniture in the books of the f'um. -
- or "
What are the causes of retirement of a partner from a partnership firm (any five
causes) ? :

SR AfSHITI 23 G STV S RIS PR R 2

24) Pari and Puja are partners sharing profits as 3:2. Their capital are Rs. 80,000 and
Rs. 60,000 respectively as on 01-04-2019. Net profit of the business for the year 2019-
20 was Rs. 40,000 before considering the following : 5
(i) Interest on capital @5% P.A.
(ii) Salary to Puja Rs. 6000 P.A.
(ii1) Commission to Puja @10% of Net profit after deducting interest on capital
and salary but before charging such commission.
Prepare a profit and loss appropriation account for the year ended 31-03-2020.
or
Give the new format of the Balance Sheet of a company (Main Heading only) as pe-
the requirements of schedule Vi of the companies Act. 1956.
>3V 5T (TN WizA VI K’ SF1R ©7@ #1ad Wgn SR (Y i) Sy
411 ‘
25) Hunda Ltd. issued 10,000 equity shares of 100 each payable as follows : 6
Rs. 20/- on Application
Rs. 30/- on Allotment
Rs. 20/- on First call
Rs. 30/- on Second and Final call.

" 10,000 shares were applied for the alloted. All money due was received with the
exception of both the calls on 300 shares held by Suprlya These shares were for-
feited. Give necessary journal entries.

or

Write short notes on : BYCOIRI 1A~ 5 = oo e 2x3=6
(i) Call in Arrears (I Ta R &) |
(i) Calls in Advance (SIFY ST =)
(iii) Re-issue of forfeited shares (TS SH#iaq =R |
26) Following is the Trial Balance of Rana and Raju as on 31st Mar, 2020. 6



Cr.

Dr. Trial Balance

Particulars Amount Particulars Amount
Machinery 10,000 Capital :
Furniture 20,860 Rana : 65,000
Rent 19,740 " Raju : 40,000 105000
Salaries 9000 Creditors 18,400
Debtors 40,500 Commision 300
Cash in hand 16,300 Bank loan 5000
Cash at Bank 45,000 Trading A/c : 57,200
Drawings : (Gross profit)

Rana 4000

Raju 3000 7000
Closing stock 12,500
Commission 5000

1,85,900 1,85,900

Prepare the profit and loss account for the year ended 3 1st Mar, 2020 and a Balance
Sheet of the firm as on that date after taking into consideration the following additional

information.

(i) Depreciate Machinery @10% P.a. and Furniture @ 20% P.a.
(i1) The profit sharing ratio between Rana and Raju was 3:2.

What is partnership deed? Mention any three distictions between Fixed and

Fluctuating capital account of partners.

GTMIST B Ifercet 6 3ol 2 sz} (23 Yo Bpisl o <% e 219 oo
21 AL fSMHTI e St 1.
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